T\GiAUC,i = -3.67 + 0.05*Xcrossover. i 7 0.53*Xyar i + 0.30* X omar, i + 0.31 X perobic i+ &

Tz;(peak—fast),i = -0.66 + 0.02*Xcrossover; i+ 0-43*Xyari + 0.12*Xpomair, i
O'ZB*XAerobic,i —O'OZ*XSBP,H €



	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	  𝑇𝐺  𝑖𝐴𝑈𝐶,  𝑖 = -3.67 + 0.05*XCrossover, i + 0.53*XVAT, i + 0.30*XHOMAIR, i + 0.31*XAerobic, i +  εi��  𝑇𝐺   𝑝𝑒𝑎𝑘−𝑓𝑎𝑠𝑡 ,  𝑖 = -0.66 + 0.02*XCrossover, i + 0.43*XVAT, i + 0.12*XHOMAIR, i + �                                                  0.23*XAerobic, i   - 0.02*XSBP, i +  εi�



